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Vertical Division Name:
Solve each problem. Answers
1) 2) 3)
1
901|360 301299 101280
2.
3.
4,
5.
4) 5) 6)
6.
20884 60|765 301808
7.
8.
9.
10.
7) 8) 9)
11.
101910 70(700 60(180
12.
10) 11) 12)
30(182 70(1293 20520
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Vertical Division Name: Answer Key
Solve each problem. Answers
1 4 2) 9r29 3) 28 4
%0[360 30[299 10[280 "
0 0 0 2 9r29
36 29 28
0 0 20 s 28
360 299 80 . 44
360 270 80
0 29 0 s 12145
4) 4414 5) 12r45 6) 26128 . 26128
20884 60(765 30[808 |
0 0 0 . 91
88 76 80
80 60 60 8 10
84 165 208 . 3
80 120 180
4 45 28 0. 612
7) 91 8) 10 9) 3
10910 70[700 60[180 R
0 0 0 2 26
91 70 18
90 70 0
10 00 180
10 0 180
0 0 0
10) 612 11) 4113 12) 26
30[182 70[293 20(520
0 0 0
18 29 52
0 0 40
182 293 120
180 280 120
2 13 0
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# Vertical Division Name:

Solve each problem. Answers
3 26 r28 12 r45
91 28 9r29 1.
4 44 r4 10
2.
1) 2) 3)

90[360 30299 10280 3

4) 5) 6)

20884 60(765 30[/808 J

7) 8) 9)

10910 70[700 60[180

ifi 1-9 |89]|78]67[56]44[33[22[11] 0 |
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